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1. Write your Seat Number in the space

provided on the top of this page. Write
your Answer Sheet No. in the space
provided for Answer Sheet No. on the
top of this page.

2. Write and darken Test Booklet No. on
OMR Answer Sheet.

3. This paper consists of Fifty (50)
multiple choice type of questions.

4. Each item has four alternative
responses marked (A), (B), (C) and (D).
You have to darken the responses as
indicated below on the correct
response against each item.

Example : A B C D

Where (C) is the correct response.
5. Your responses to the items for this

paper are to be indicated on the
Answer Sheet only. Responses like ( × )
( ü ) ( / ) and light shaded responses
will not be considered/evaluated.

6. Read instructions given inside
carefully.

7. One Sheet is attached at the end of the
booklet for rough work.

8. You should return the test booklet and
answer sheet both to the invigilator
at the end of the paper and should not
carry any paper with you outside the
examination hall.

9. Answers marked on the body of the
question paper will not be evaluated.
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48. The experimental design 01 02 03

04 × 05 06 07 08 is :

(A) Non-equivalent group design

(B) Quasi-experimental design

(C) Time-series design

(D) Equivalent group design

49. ........................ is not a computer

statistical package.

(A) Statistica

(B) SPSS

(C) Excel

(D) ACCESS

50. Unethical practice in research

is :

(A) Taking informed consent of the

subject

(B) Offering inducement to

participate in research

(C) Fabrication of data

(D) Protecting privacy of the

subject

48. 01 02 03 04 × 05 06 07 08 gk izk;ksfxd

vfHkdYi Eg.kts -------------

(A) vlerqY; xV vfHkdYi

(B) izk;% izk;ksfxd vfHkdYi

(C) le;dkfyd@dkyJs.khd vfHkdYi

(D) lerqY; xV vfHkdYi

49.
------------------ ^lax.kd la[;k'kkL=h; iWdst*

ukgh-

(A) LVWVhLVhdk

(B) ,l~-ih-,l~-,l~-

(C) ,Dlsy

(D) vWDlsl

50. [kkyhyiSdh -------------------] gh la'kks/kukrhy

vuSfrd izFkk vkgs-

(A) iz;ksT;kyk ekfgrh ns≈u R;kph lgerh

?ks.ks

(B) la'kks/kuke/;s lgHkkxh gks.;klkBh ekscnyk

ns.ks

(C) diksydfYir ekfgrh r;kj dj.ks

(D) iz;ksT;kus fnysY;k ekfgrhckcr xqIrrk

ikˇ.ks
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45. If the objective of the research is

‘‘To study the value inputs in the

History text-books of Primary stage’’,

which of the following will not be

used to collect the relevant

data ?

(A) Content analysis

(B) Rating scale

(C) Questionnaire

(D) Achievement test

46. In .................... research manipulation

of variables is necessary.

(A) Action

(B) Experimental

(C) Causal comparative

(D) Ethnographic

47. Suppose a researcher measured the

self-confidence of B.Ed. student-

teachers, its measurement is

considered to be in .............

(A) Ratio scale

(B) Ordinal scale

(C) Interval scale

(D) Nominal scale

45. tj  ^^izkFkfed  LrjklkBhP;k  bfrgkl

ikBÓiqLrdkae/;s vlysY;k ewY;kapk vH;kl**

vls la'kks/kukps mfÌ"V vlsy rj [kkyhyiSdh
---------------------------- pk mi;ksx lacaf/kr ekfgrh

ladyuklkBh dsyk tk.kkj ukgh-

(A) vk'k; fo'ys"k.k

(B) infu'p;u Js.kh

(C) iz'ukoyh

(D) laiknu dlksVh

46.
------------------- la'kks/kukr pykae/;s cny ?kMowu

vk.k.ks vko';d vlrs-

(A) œrh la'kks/ku

(B) izk;ksfxd la'kks/ku

(C) rqyukRed dk;Zdkj.k la'kks/ku

(D) ekuooa'k'kkL=h; la'kks/ku

47. letk] ,dk la'kks/kdkus ch-,M- fo|kFkhZ&

f'k{kdkaP;k vkRefo'oklkps ekiu dsys- gs

ekiu ---------------- e/;s ;sbZy-

(A) xq.kksŸkj 'kykdk@Js.kh

(B) ÿekadu 'kykdk@Js.kh

(C) varj'kykdk@Js.kh

(D) ukekadu 'kykdk@Js.kh
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42. The concepts of internal and

external criticisms are associated

with :

(A) Validity of experimental designs

of research

(B) Descriptive research

(C) Historical research

(D) Ex-post facto research

43. Which of the following is the highest

level of significance in Behavioural

Sciences ?

(A) 0.01

(B) 0.002

(C) 0.05

(D) 0.001

44. When one variable is having a

genuine dichotomy and the other

variable is continuous, then the

appropriate correlation co-efficient

is :

(A) Biserial

(B) Tetrachoric

(C) Point-biserial

(D) Phi

42. vkarfjd vkf.k ck· feekalsph ladYiuk

[kkyhyiSdh -------------------- d'kk'kh lacaf/kr

vkgs \

(A) la'kks/kukP;k izk;ksfxd vfHkdYikph

;FkkFkZrk

(B) o.kZukRed la'kks/ku

(C) ,sfrgkfld la'kks/ku

(D) ?kVuksŸkj la'kks/ku

43. orZu'kkL=kae/;s [kkyhyiSdh ---------------- gk

lkFkZdrspk mPpre Lrj gks;-

(A) 0.01

(B) 0.002

(C) 0.05

(D) 0.001

44. tsOgk ,d py vLly Mk;dkWVkWeh (nksu oxkZr

foHkktu dj.ks) vl.kkjs vkf.k nqljs py

v[kafMr vlrs] rsOgk ;ksX; lglaca/k lgxq.kd
---------------- gk gks;-

(A) f}Js.khd

(B) prq"dks"Vd

(C) fcanw&f}Js.khd

(D) Qk;
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39. Wherever population is

homogeneous, the best method of

sampling is :

(A) Incidental

(B) Purposive

(C) Random

(D) Stratified

40. The scientific method of educational

research implies :

(A) Inductive reasoning

(B) Deductive reasoning

(C) Both deductive and inductive

reasoning

(D) Logical reasoning

41. When the questions are presented

to the respondents in a face-to-face

situation and the questions are filled

by the interviewer rather than the

subjects, the tool is known as ..........

(A) An inventory

(B) A questionnaire

(C) A schedule

(D) A test

39. tsOgk tula[;k ,dftulh vlrs rsOgk uequk

fuoMhph mŸke iºr ------------------------ gh

gks;-

(A) izklafxd

(B) lgsrqd

(C) ;kn`fPNd

(D) Lrjh;

40. 'kS{kf.kd la'kks/kukph oSKkfud iºrh Eg.kts
--------------

(A) mn~xkeh dkj.kfeekalk

(B) voxkeh dkj.kfeekalk

(C) mn~xkeh vkf.k voxkeh ;k nksugh izdkjph

dkj.kfeekalk

(D) rkfdZd dkj.kfeekalk

41. tsOgk izfrlkndkyk leksjkleksj iz'u fopkjys

tkrkr vkf.k eqyk[krdkjp ekfgrh Hkjrks- v'kk

osˇh okijY;k tk.kkÚ;k lk/kukl ------------

Eg.krkr-

(A) 'kksf/kdk

(B) iz'ukoyh

(C) lwph

(D) dlksVh
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37. The correct sequence of the thinking

process is .................

(A) Sensation—perception—concep-

tualization

(B) Perception—sensation—concep-

tualization

(C) Sensation—attention—imagi-

nation

(D) Attention—sensation—percep-

tion

38. Educational Research attempting to

develop generalizations about

teaching-learning process and

instructional material is .................

research.

(A) Action

(B) Fundamental

(C) Policy

(D) Applied

37. fopkjizfÿ;k ;ksX; ÿe ------------------------

vkgs-

(A) laosnuk—vocks/k—lacks/k

(B) vocks/k—laosnuk—lacks/k

(C) laosnuk—vo/kku—dYiuk

(D) vo/kku—laosnuk—vocks/k

38. v/;;u&v/;kiu izfÿ;k vkf.k vuqns'ku

lkfgR; ;kckcr lkekU;hdj.k dj.;klkBhpk

'kS{kf.kd la'kks/kukpk iz;Ru Eg.kts -----------

la'kks/ku gks;-

(A) œrh

(B) ewyHkwr

(C) /kksj.kkRed

(D) mi;ksftr
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34. ‘Suresh always tries to avoid

examinations by saying that he is

not feeling well.’ This behaviour is

an example of ............

(A) Negativism

(B) Delusion

(C) Pretending

(D) Displacement

35. The term ‘inferiority complex’ in

personality is coined by .............

(A) Freud

(B) Adler

(C) Dollard

(D) Rogers

36. ‘For transfer of learning a student

must know the similarity between

the ideas.’ This statement is based

on .....................

(A) Thorndike’s theory

(B) Judd’s theory

(C) Bagley’s theory

(D) Kline’s theory

34. ^^eyk cjs okVr ukgh vls Eg.kwu lqjs'k usgeh

ijh{kk Vkˇ.;kpk iz;Ru djrks-** gs orZu

---------------- izdkjps vkgs-

(A) udkjkRed o`Ÿkh

(B) foœr Jºk

(C) <ksax dj.ks

(D) foLFkkiu

35. O;fDreŸokrhy ^U;wuxaM* gh laKk -------------

us fodflr dsysyh vkgs-

(A) ›kWbZM

(B) vWMyj

(C) MksykMZ

(D) jkWtlZ

36. ^v/;;u laÿe.k gks.;klkBh] fo|kF;kZyk

dYiukae/khy lkE; ekfgr vl.ks vko';d
vkgs-* gs fo/kku ----------------------- oj vk/kkjysys

vkgs-

(A) FkkWuZMkbZdph miiŸkh

(B) tM~Mph miiŸkh

(C) cWXysph miiŸkh

(D) DykbZuph miiŸkh
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31. ‘‘While teaching history a teacher

should not teach any incident or

historical fact in isolation.’’ This

statement is based on ...............

(A) Association theory

(B) Conditioning theory

(C) Operant conditioning theory

(D) Gestalt theory

32. Amit reads cnd (BADAK) as c

(BA)—n (DA)—d (KA), then Amit

is a ..........

(A) mentally retarded child

(B) hyperactive disabled child

(C) learning disabled child

(D) slow learner

33. ................. are used to observe and

measure the unconscious side of

behaviour.

(A) Interviews

(B) Situational tests

(C) Sociometric techniques

(D) Projective techniques

31. ^^bfrgkl fo"k;kps v/;kiu djrkauk f'k{kdkus

,sfrgkfld  izlax  fdaok  ?kVuk  rqVdi.ks

f'kdow u;s-** gs fo/kku ------------ oj vk/kkfjr

vkgs-

(A) lkgp;Zoknh miiŸkh

(B) vfHkla/kku miiŸkh

(C) lk/kd vfHkla/kku miiŸkh

(D) lef"Voknh miiŸkh

32. vfer ^cnd* gk 'kCn cµnµd vlk okprks]

rj rks ---------------- eqy vkgs-

(A) euksnqcZy

(B) vfrpapy

(C) v/;;u vdk;Z{ke

(D) xfrean

33. vcks/k orZukP;k fujh{k.kklkBh o ekiuklkBh
------------------- pk mi;ksx dsyk tkrks-

(A) eqyk[kr

(B) izklafxd dlksVÓk

(C) lektferh ra=s

(D) iz{ksi.k ra=s
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29. A 24 year old person solves the

intelligence test meant for a 16 year

old child. Then the intelligence

quotient of that person is ............

(A) 66

(B) 150

(C) 100

(D) 67

30. In Clarke-Hull’s theory of learning

which of the groups of terms is very

important :

(A) Need—drive—incentive motiva-

tion—habit strength

(B) Stimulus—response—operation

—reward

(C) Person—foreign hull—vector—

dimensions

(D) Motivtion—goal—barriers—

topology

29. 24 o"ksZ o;kph O;Drh 16 o"kkZP;k eqyklkBh

r;kj dsysyh cqfºekiu dlksVh lksMfors- Eg.kwu

R;k O;Drhpk cqfºxq.kkad ---------------- vlyk

ikfgts-

(A) 66

(B) 150

(C) 100

(D) 67

30. DykdZ&gyP;k v/;;u miiŸkhe/;s -----------

;k laKk vR;ar egŸoiw.kZ gksr-

(A) xjt—mtkZ—vkfe"kkaps izsj.k—lo;hps

nk<ÓZ

(B) mÌhid—izfrlkn—izfÿ;k—c{khl

(C) O;Drh—cfgLFk vkoj.k—lfn'k jk'kh—

ferh

(D) izsj.k—/;s;—vMFk š— VksikWykWth
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27. Ramesh speaks in a code language

which has been developed by his

friends; then Ramesh may be in the

................... stage of development.

(A) Adolescence

(B) Early childhood

(C) Later childhood

(D) Adult

28. Proper sequence of stages of concept

formation is ................

(A) Naming—generalization—

comparison—observation

(B) Generalization—observation—

comparison—naming

(C) Observation—generalization—

comparison—naming

(D) Observation—comparison—

generalization—naming

27. jes'k R;kP;k fe=kauh r;kj dsysY;k lkadsfrd

Hkk"kspk mi;ksx cksyrkuk djrks] rj rks

fodklkP;k ---------------- voLFkse/;s vlkok-

(A) ikSxaMkoLFkk

(B) iwoZ&ckY;koLFkk

(C) mŸkj&ckY;koLFkk

(D) izkS<koLFkk

28. lacks/k fufeZrh izfÿ;srhy voLFkkapk ;ksX; ÿe

------------------- gk vkgs-

(A) ukek adu—lkekU;hdj.k—rqyuk—

fujh{k.k

(B) lkekU;hdj.k—fujh{k.k—rqyuk—

ukekadu

(C) fujh{k.k—lkekU;hdj.k—rqyuk—

ukekadu

(D) fujh{k.k—rqyuk—lkekU;hdj.k—

ukekadu
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24. ............... of education for different

people of the society is characteristic

of democratic and industrial

societies.

(A) Access

(B) Quality

(C) Inclusiveness

(D) Excellenceness

25. The learning centres of Takshasila

and Varanasi have been famous

for ..................

(A) Sikh learning

(B) Jain learning

(C) Hindu learning

(D) Buddhist learning

26. B.F. Skinner stresses on ..................

while defining educational

psychology.

(A) teaching-learning process

(B) stages of development

(C) problem solving in education

(D) human behaviour

24. lektkrhy fofo/k yksdkauk f'k{k.kkph -------

gs ,d oSf'k"VÓ yksd'kkgh o vkS|ksfxd

lektkps vkgs-

(A) miyC/krk

(B) xq.koŸkk

(C) loZlekosf'kdrk

(D) mRœ"Vrk

25. r{kf'kyk  o  okjk.k'kh  gh  v/;;u  dsaÊs

------------- lkBh izflº gksrs-

(A) f'k[k v/;;uk

(B) tSu v/;;uk

(C) fganw v/;;uk

(D) ckSº v/;;uk

26. 'kS{kf.kd ekul'kkL=kph O;k[;k djrkuk

ch-,Q- fLduj --------------- oj Hkj nsrks-

(A) v/;kiu&v/;;u izfÿ;k

(B) fodklkP;k voLFkk

(C) f'k{k.kkrhy leL;kfujkdj.k

(D) ekuoh orZu
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22. [kkyhyiSdh /keZfujis{krsps dks.krs oSf'k"VÓ

ukgh \

(A) /keZ] tkr] oa'k fujis{k&lok±lkBh

(B) dks.kR;kgh izdkjP;k /kkfeZd f'k{k.kkph

lekos'k

(C) jk"V™h; /;s;s o mfÌ"Vkaoj vk/kkfjr

(D) brj /kkfeZd ckchaP;k ckcr /kkfeZd

lfg".kqrk o ikjLifjd fLoœrh

23. f'k{k.kkph ------------------------- gh œrh'khy

dk;Zokfguh vkgs-

(A) flusek

(B) o`Ÿki=

(C) jsfMvks

(D) lkekftd eaM š

22. Which of the following is not

a characteristics of secular

education ?

(A) It is meant for all irrespective

of religion, caste, race

(B) It covers religious education of

any kind

(C) It is based on the national goals

and objectives

(D) It attempts to inculcate

religious tolerance and mutual

appreciation of other religious

contribution

23. Active Agency of Education is ............

(A) Cinema

(B) Newspapers

(C) Radio

(D) Social clubs
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20. Social Change refers to ‘‘Variation

in social progress, social interaction

or social organization’’ according

to :

(A) Brown

(B) Smith

(C) Cuber

(D) Jones

21. In the Indian Constitution the

provision for promoting equality of

educational opportunity is enshrined

in ...............

(A) article 45

(B) article 35

(C) article 46

(D) article 30

20.
�---------------- ;kaP;k ers lkekftd cny Eg.kts]

^^lkekftd izxrh] lkekftd vkarjfÿ;k fdaok

lkekftd la?kVu ;krhy cny-**

(A) czk≈u

(B) fLeFk

(C) D;qcj

(D) tksUl

21. f'k{k.kkph leku la/kh ns.;kph Hkkjrh;

jkT;?kVusrhy ------------------ varxZr rjrwn dsyh

vkgs-

(A) dye 45

(B) dye 35

(C) dye 46

(D) dye 30
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18. What are the different main types

of social interaction according to

Brown ?

(A) competition, conflict, co-opera-

tion, assimilation

(B) co-operation, conflict,  competi-

tion, adjustment

(C) conflict, co-operation, adjust-

ment, assimilation

(D) co-operation, conflict,  competi-

tion, acceptance

19. Important responsibility of the

family is :

(A) Nurturing children

(B) Training virtues and values

(C) Rearing the children

(D) Sex education of children

18. czk≈uP;k ers lkekftd vkarjfÿ;sps fofo/k

egŸokps izdkj dks.krs \

(A) Li/kkZ] la?k"kZ] lgdk;Z] lkRehdj.k

(B) lgdk;Z] la?k"kZ] Li/kkZ] lek;kstu

(C) la?k" k Z ]   lgdk; Z ]  lek;k stu]

lkRehdj.k

(D) lgdk;Z] la?k"kZ] Li/kkZ] fLoœrh

19. dqVqackph egŸokph tckcnkjh vkgs %

(A) eqykaps laxksiu

(B) eqykaoj laLdkj

(C) eqykaps ikyuiks"k.k

(D) eqykaps ySafxd f'k{k.k
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15. Which of the following occupies the

highest level in the structure of the

social system ?

(A) the own family

(B) the peer group

(C) the state

(D) the neighbours

16. According to sociologist, the effect of

............... on the personality of

individuals is quite high.

(A) Social attitude and social

values

(B) Heredity and environment

(C) Opportunity and responsibility

(D) Attitude and values

17. Which of the following is the biggest

obstacle in the way of modernization

in India ?

(A) Gap between ideals and

actuality

(B) Ascribed versus achievement

dilema

(C) Closed system of hierarchical

stratification

(D) Lack of Oneness

15. lkekftd laLFksP;k jpusr [kkyhyiSdh dks.krh

ckc loksZPp LFkkuh vkgs \

(A) Lor%ps dqVqac

(B) leo;Ld

(C) jkT;

(D) 'kstkjh

16. lekt'kkL=KkaP;k ers] O;DrhP;k O;fDreŸokoj
--------------------------- pk izHkko gk cjkp tkLr

vlrks-

(A) lkekftd o`Ÿkh vkf.k lkekftd ewY;s

(B) vkuqoaf'kdrk vkf.k ifjfLFkrh

(C) la/kh vkf.k tckcnkjh

(D) o`Ÿkh vkf.k ewY;s

17. Hkkjrkrhy vk/k qfudhdj.kkP;k ekxkZrhy

[kkyhyiSdh dks.krk eksBk vMFkˇk vkgs \

(A) vkn'kZ vkf.k oLrqfLFkrh ;krhy varj

(B) fuf'pr dsysys o izkIr dsysys ;krhy

njh

(C) Js.kh;qDr Lrjhdj.kkph cafnLr O;oLFkk

(D) ,dhpk vHkko
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12. According to the naturalistic school

of philosophy teaching is imparted

primarily through .............

(A) books

(B) the teacher

(C) experiences

(D) religion

13. Which of the following does not

specify Max Weber’s concept of

social stratification ?

(A) Social Prestige

(B) Political Power

(C) Income and Wealth

(D) Educational Status

14. According to Leo Crepsi which of the

following factor is responsible for

enforcing social control through the

institutions of family ?

(A) approval and disapproval by

elder generation

(B) responsibility of marriage and

parenthood

(C) religious beliefs of family

(D) economic status of family

12. fulxZoknh rŸoKkukuqlkj v/;kiu izkeq[;kus

[kkyhyiSdh ------------------ lgk∏;kus dsys tkrs-

(A) iqLrds

(B) f'k{kd

(C) vuqHko

(D) /keZ

13. [kkyhyiSdh dks.krh ckc eWDl oscjph

lkekftd Lrjhdj.kkph ladYiuk Li"V djhr

ukgh \

(A) lkekftd izfr"Bk

(B) jktdh; lŸkk

(C) mRiUu vkf.k laiŸkh

(D) 'kS{kf.kd LFkku@ntkZ

14. fyvks ÿsLihP;k ers] dqVqac O;oLFksrwu] lkekftd

fu;a=.kkoj izHkko Vkd.;klkBh dks.krk ?kVd

tckcnkj Bjrks \

(A) ekxhy fi<hP;k ekU;rk o vekU;rk

(B) fookg o ikydŸokph tckcnkjh

(C) dqVqackP;k /kkfeZd Jºk

(D) dqVqackpk vkfFkZd ntkZ



5 [P.T.O.

NOV-70211/II

9. The primary cause of bondage

according to Advaita philosophy

is :

(A) Attachment

(B) Evil

(C) Ignorance

(D) Fear

10. Establishment of ‘minority

institutions’ is based on the

constitutional provision for :

(A) liberty to all

(B) freedom of worship

(C) right to justice

(D) equality of opportunity

11. The Constitution of India provides

for ...............

(A) the guarantee of employment

for all

(B) equality of opportunity in public

employment

(C) reservation of jobs for women

(D) one job for each family in either

government or private sector

9. v}Sr rŸoKkukuqlkj ca/kkps (ck°Mst) izeq[k

dkj.k %

(A) eksgo'krk (vWVWpesaV)

(B) iki

(C) vKku

(D) Hkhrh

10. vYila[;kad laLFkkaph LFkkiuk ?kVusrhy ;k

rjrwnhuqlkj >kyh vkgs -------------------

(A) lok±lkBh Lokrá ;

(B) iwtu Lokra´;

(C) U;k;kpk gDd

(D) la/khph lekurk

11. Hkkjrkph ?kVuk ------------------------ ;kph geh

nsrs-

(A) lok±uk uksdjhph geh

(B) lkoZtfud {ks=krhy uksdjhrhy la/khph

lekurk

(C) fL=;kalkBh dkekps vkj{k.k

(D) ljdkjh fdaok [kktxh {ks=kae/;s ,dk

dqVqackyk ,d dke
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8. Who said the following :

(a) The first principle of teaching

is that nothing can be

taught

(b) A child should be educated

through basic craft

(c) Nothing ready-made should be

given to child, he should be

made to experiment

(d) The practice of ‘Brahmacharya’

will develop the power of

concentration

(1) Aurobindo (2) Gandhiji

(3) Tagore (4) Vivekananda

(A) (a)-(2), (b)-(4), (c)-(1), (d)-(3)

(B) (a)-(4), (b)-(2), (c)-(3), (d)-(1)

(C) (a)-(1), (b)-(2), (c)-(3), (d)-(4)

(D) (a)-(3), (b)-(1), (c)-(2), (d)-(4)

8. [kkyhy fo/kkus dks.kh dsyh vkgsr \

(a) v/;kiukps izFke lw= vkgs dh] ^dkghgh

f'kdork ;sr ukgh*

(b) ewyHkwr gLrdys}kjs eqy f'kf{kr

djkos

(c) eqykyk ^r;kj dsysys* dkghgh ns≈ u;s]

R;kyk iz;ksx d: |kok

(d) cz„p;kZpk ljko ,dkxzrsph 'kDrh

fodflr djrs

(1) vjfoan (2) xka/khth

(3) Vkxksj (4) foosdkuan

(A) (a)-(2), (b)-(4), (c)-(1), (d)-(3)

(B) (a)-(4), (b)-(2), (c)-(3), (d)-(1)

(C) (a)-(1), (b)-(2), (c)-(3), (d)-(4)

(D) (a)-(3), (b)-(1), (c)-(2), (d)-(4)
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5. ‘‘ ‘Child’ is the centre of the

education process.’’ This is the

philosophy of :

(A) Pragmatism

(B) Existentialism

(C) Marxism

(D) Naturalism

6. Values are inherent in the

individual, is the viewpoint of ..........

(A) Idealism

(B) Existentialism

(C) Pragmatism

(D) Realism

7. ‘Yoga is life, and life is Yoga’, is the

philosophy of ..............

(A) Aurobindo

(B) Tagore

(C) Vivekananda

(D) Gandhiji

5. ^^ ^eqy* gk f'k{k.k izfÿ;spk dsaÊfcanw

vkgs-** gs rŸoKku ------------------ ;k oknkps

vkgs-

(A) dk;Zokn

(B) vfLrRookn

(C) ekDlZokn

(D) fulxZokn

6. izR;sd O;Drhe/;s ewY;s tUetkrp vlrkr gk

ǹf"Vdksu -------------- ;kapk vkgs-

(A) vkn'kZokn

(B) vfLrRookn

(C) dk;Zokn

(D) okLrookn

7. ^;ksx Eg.kts thou o thou Eg.kts ;ksx*]

gs rŸoKku ;kauh ekaMys vkgs %

(A) vjfoan

(B) Vkxksj

(C) foosdkuan

(D) xka/khth
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3. Who is associated with ‘‘Education

of the feeling’’ ?

(A) Rabindranath Tagore

(B) Aurobindo

(C) Plato

(D) Kilpatrick

4. The aim of education according to

Existentialism is .................

(A) to develop individuals inner

potentialities

(B) to make individuals realise the

supreme self

(C) to prepare individuals to face

peacefully the annihilation of

their existence

(D) to prepare the individuals

to be good citizens of the

society

3. ^laosnu'khyrsps (fQfyax) f'k{k.k* ;kps mn~xkrs

dks.k \

(A) johaÊukFk Vkxksj

(B) vjfoan

(C) IysVks

(D) fdyiWfV™d

4. vfLrRooknkuqlkj f'k{k.kkps /;s; ----------- gs

vkgs-

(A) O;DrhP;k vkarfjd {kerkapk fodkl

dj.ks

(B) O;Drhyk mPpre ^Lo* ph vksˇ[k

gks.ks

(C) ^eh* p s vfLrRo ukghp ;klkBh

O;Drhyk 'kkarrsus lkeksjs tk.;klkBh r;kj

dj.ks

(D) lektkps mŸke ukxfjd gks.;klkBh

O;Drhyk r;kj dj.ks
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1. ‘‘Education is the dynamic side of

philosophy.’’ Who has made this

statement ?

(A) John Dewey

(B) Rousseau

(C) Aristotle

(D) John Adams

2. The Pragmatic Philosophy of

Education has contributed the

following method of education :

(A) Lecture

(B) Self-learning

(C) Project method

(D) Programmed learning

1. ^^f'k{k.k Eg.kts rŸoKkukph xrh'khy cktw-**

gs fo/kku dks.kh dsys vkgs \

(A) tkWu MÓqbZ

(B) :lks

(C) vWfjLVkWVy

(D) tkWu vWMel~

2. dk;Zoknh rŸoKkukps f'k{k.kke/;s ---------------

;k iºrhaps ;ksxnku fnys vkgs-

(A) O;k[;ku

(B) Lo;av/;;u

(C) izdYi&iºrh

(D) ÿekfUor v/;;u
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